V -37 |
SUMMATIVE ASSESSMENT -1 - 2023 - 24
SOCIAL STUDIES -
(English Medium)
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INSTRUCTIONS : *

1,

L .

15 minutes are allotted for reading the question paper in addition to
3.00 hour's which is allotted for writing the answers.

All answers should be written in the separate answer booklet
There are four sections in' the question paper
There is an internal choice in section - IV

In question No. 33 both A & B (India map and World inap) should
be answered separately ‘ .

Note : 1. Answer all the questions.

-l

2. Each question carrics 1 mark. | 12 x1=12

Between which latitudes is India located?
Expand IBRD.
What is population density ?

Define class 1 cities.
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5. Find outthe mis match. | ' @

Godavari — Nasik, Ganga - ?
6. Give examp]es for green house gases.
7. Which preamble refers to the word gender?
8. Who gave the slogan ‘Do or Die’. |
9. Inwhich country we find the practice of ‘foot binding’.
10. Who was depicted in the cartoon?

Wip

12. Armrangethe following countries in cast to west diréction.

Brazil, Egypt, England, India.
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. mte : 1. Answer all the questions.

2. Each question carries 2 Marks. ' 8x2=16

13. What are intermediate goods? Give examples
14, What s an Acrotropolis? Give examples.
15, Name the factors of production.

16. Read the Tollowing data ‘share of three sectors in GDP’ and show it in a bar

Iridustry gl
L 26%

Ser'vices.
57% .

17. “Love of ones country leads to wars” comment.

18. Whois the present spea'ker of Lok Sabha and chairman of Rajya Sabha.
19. Write two slogans on prévi;nting wars. g

20. Read the map and answer the following questions.,

Map 3 : Map of Nigeria' .. -

Hausa-Fulani people *

a) Which river is shown in the picture,

b) Name the tribes shown in the map.
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SECTION - 111
‘Note : 1. Answer all the questions.

2. Each question carries 4 Marks.
21. Whatare the causes for the growth of the Indian population ?

8 x4 =32

22 Why do you think parents accord less priority to girl’s cdpcation when compared

to boys? Explain.
23. . How is organised sector different from Unorgam sed Sector?
24. Suggest some measures to lessen AGW?
25. Mention the effects of World Wars. .

26. - Read the below map and answer the following questions.
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a) Which area is marked in the map
. \
b) Name the island countries in the map,
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é?. Convert the bar graph into a table.

28
22 22
20
i 17
18 s BR =
10 -
L
.
3 —
0

195160 1961-70 1971-80 158190 1991.2000 200113
Since the constitution was adopted on 26th January 1950
till 2013 nearly 99 amendments were made
28. Make alist of various reasons for the partition of the country ?
‘_ SECTION - IV
Note : 1. Answer all the quéstions.
2. Each question carries 8 Marks. _
3. There is an internal choice for each question Sx8=40
29. a) Write about the School revolution in Himachal Pradesh.
- (Or). :
b) Explain about the basic principles of Indian Constitution. -
30. a) “Ground water should be cpnsidered as acommon pool resource.” Explain

your view.
(Or)
b) * Integration of various princely states in India was a challenging task. Is it
true? - Explain. |

31. a) Read the following paragraph and comment oniit.
- “The formation of the Himalayas influences the climate in various ways.” -
Comment. -
(O
b) “With this began a great experiment of building a country without exploiters
like feudal lords, Kings or capitalists. The USSR tried to build a society that
was industrialised and modem and yet did not have inequality or exclusion of
people on basis of birth, gender, language, etc..” Comment.
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32. a) Read the below line graph and answer the following questions. @
Fertility Rate in India, 1961-2011

5.9

Total births per woman

1961 1971 1981 1991 2001 2011.

i) What does the above line graphindicate? . ,
i) What is Fertility Rate? = e A
iit) How many children did a woman give birthin 19617 -
iv) How is the pattern of fe-rti'lity tzite changing? e '
ot e & l(Or)‘
b) Read the time line and answer the following_questions.j:_

~

([ Beginning of First —
__ World war August 1

( A . o )
Russian Revolution -

~e1914 . i

1917

S Sas --cw-:~.-,.a~_.-s-f._, i

1EE

L

End of First World War ~ ~ | «1918" o

- 4

Treaty of Versailles *1919

- it

rFormation of League of Nations\ 1919

™)

( Rise of Hitler in Germany 01933 .

=/

[Break out of Second World War| 1939

\

( German Invasion of USSR e 1942

\

Formation of United Nations 11945
' _organisation J

o

E?._nd of Second World War August - 01945
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ii) Which treaty caused World War - 11 7
iii) Expand USSR.
3 1v) What was the immediate provocation for World War 17

33. A) Locate the following in the given outline map of I'nglia‘.

DMLK, - 2) Kolkata
3) Chota Nagpur Plateau _ 4) Western Ghats

(Or) &
5)Bhopal = . . 6)AravalliMountains’
7) Utkal Coast p 8) Godavari River.

B) Locate the follOWing in the given ogitline' ma;) of World. |
1) Red Sea CL 2) Gennany | i ’
3)Japan - - 4) India

| ©Or) |
5)England = 6) Nigeria
7) Pacific Ocean 4 8):Viétnmp :

L

, @ i) WhiFh peace organization was established aftcer(Sfld War-119 = "
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